
Expand using FOIL.

(𝑥 + 1)ଶ (𝑥 + 1)ଷ

(𝑥 − 3)ଶ (𝑥 − 3)ଷ

(𝑎 + 𝑏)ଶ
(𝑎 + 𝑏)ଷ

What do you notice about the coefficients of the last two examples and Pascal's triangle?

Expand using Pascal's Triangle

(𝑥 + 𝑦)ଶ (𝑥 + 𝑦)ଷ

(𝑥 + 𝑦)ସ (𝑥 + 𝑦)ହ
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What is the third term in the expansion of:

(𝑥 + 𝑦)ସ

How many terms are in the expansion:

(𝑥 + 𝑦)ଶ
(𝑥 + 𝑦)ଽଽ

(𝑥 + 𝑦)ହ (𝑥 + 2)ହ

(𝑥 − 3)଻ (𝑥 − 2𝑦)଼

What is the fifth term in the expansion of:

What is the term with 𝑥ଶ in the expansion of:

(𝑥 − 3)଻

What is the constant term in the expansion of:

(𝑥 + 2)ଷ

What is the 2nd term in the expansion of:

(𝑥ଶ + 2)ହ
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